GRADE 11 CST MATH
MIDYEAR EXAM REVIEW
SECTION 2: SHORT ANSWER QUESTIONS

Note:

- You have seen all of these questions before. Your
midyear exam will contain 3 short answer questions
based on the types of questions in this package.

- Answer key posted on website
{thomsonmachigh.weebly.com)

- Please come see me ASAP if you do not understand
any of these
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) LIFE ON MARS - |
Ona meteor ofMartian origin, atearn of researchers found elements suiggesting thers oould

have been life on Mars. We assume that the nuraber of male Martians was not less than the
number of female Martians and that the number of female Martians was at least 200. We

also believe there were no mote than 800 inhabitants on Mars.
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& ).Give the system of linear inequallties that represents the conpstraints for thig situation.
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MOVING DAY

On moving day, a mix of small 4 kg boxes and large 8 kg boxes have to be moved. A maximiin

¥ B0'small boxes and a minimum of 40 targe boxes are 1o be moved, and the team of movers

wants 1o kriow how meny, boxes of each type can be movedin a conteiner that holds no more

than 600 kg.
a ) Give the system of linear inequalities that represents the constraints for this situstion.
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GRADUATION _
At a graduation ceremony, some students will receive trophies and cerlificates. The maximum
number of award winners s 120, butat ieast 80 people have to be honoured. A troply costs $20
and a certificgte, $10. We want 6 know the number of trophies and certificates we can. buy with
a $150p budget - .
a} Give the system of ﬁnear inequalities that represents.the constrainis for this s,?tuation.
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Steve wants 1o install a sprin kier system on his property. Thew:ﬂoasofme
following graph represent the required sprinklets. Each

édge represents HPMHO
water pipe. Thenumberoneachadge inimteaﬂmplengﬁofﬂ\eplpeh
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Spnnkler l B

Bteve'wants to connect all the sprinklers so as o mlmmize the total combiried
sngth oﬂhe plpes. )

Vhat is the Bhorlest Iangth of plplng required ta connéct all the qpnnlders?
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In the following graph, vartices. A, B, C and D sopreeent the cstornces., o gos soprestuit the diffient rosds Peter oan talkn,
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The adjacent graph illustrates the
possible points of access between a A musew's exhibltion rooms
museum's various exhibition rooms. ) )
Given that the visit starts in the
Pharachs room, suggest a way to visit
each of the rooms once while
returning to the original room.




To send a signat from one user to another, a cellular telephone company uses many
antennas. The following graph presents its. network of antennas

Aoelluunelepmm compaw'SMna nnlwnrk

A technician tests network reliability by emitting a signal that starts from Antenna € and
miust travel the entire network without using the same transmission line twice. identify
this transmission path.

- $am i$ the cogch of a volleybail team. He hes to cancel 1ognﬁh't's pmchce '!'he
9 piayers must be notlrad by telephone. " . _ KL R

inthe following gr‘aph Sam and the players are each represanted 'By ] r‘lex The
edges représen! the calls that could bé made. For example. the etige Qgcted from
Lisa o Lucy inditates that Llsa knows Lucy's telephane purhber-and oah-cell her.

- Sam

Sam would like to make the fewest number of calls possible.

Whel is the minimum number of calls Sam miust maké? =~ -
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ight watchman et a factory must go through all the doors during his rounds. His office is
1 room H.

) Construct a graph in
which the vertices are the
different rooms. Draw an
edge if a door connects
one room to another.

3} Explain how the
watchman can meake his
rounds going through
each door only once.
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An airline is. having @ seat sale for a flight. In order for this flight fo be profitable, the
following two constraints regarding the number of passengers must be taken into

account: : L
AT I

+ There must be a minimum of 50 passengers.
+ There must be at least twice as many adult passengers as child passengers.

where x : number of child passengers on the flight

y : number of adult passengers on the flight

What inequalities represent these two constraints?
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#- A company takes people to Red Rock Island using two boats: one that can hold

2

)

8 passengers and one that can
faces the following two constraints; - " o9 EVery day, the company

+ At most, 96 passengers can be taken to the island.

* The B-passenger boat can m im :
island as the 12-passenger bgl;: a maximum of twice as many trips to the

X : number of trips made to the island b (
: ‘ y the 8-passenger boat
Y : number of trips made to the island by the 12-passegger bf:lalte ;s'eyryd:gy

What inequalities represent these two constraints? R

#. John wants to form a mixed soccer team for the summer season. The following

two constraints limit the number.of players that can be on the team. _
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o There must be at least 14 players.
» There must be no more than three times as many boys as girls.

X : number of girls on the team _
y : number of boys on the team

What inequalities represent these two constraints?



